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INTERNATIONAL TOURISM

Time Allotted : 3 Hours Full Marks : 70

The figures in the margin indicate full marlks.

Candidates are required to give their answers in their own words
as far as practicable.

GROUP - A

( Multiple Choice Type Questions )
1.  Choose the correct alternatives for the following : 10 x 1 = 10

i) Green Globe was launched by
a) W.T.O b) W.T.T.C.
c) IATA d) W.A.TA.

ii) The theme of Warsaw Convention was
a) DBaggage allowance b) Economy
c) Environment d) None of these.

iili) International Convention of travel contract was held in
a) Brussels b) Bangkok

c) Canada d) Athens.
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iv)

V)

vi)

vii)

viii)

ix)

X)
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A tourist who loves to travel alone to plac ew

and unexplored are ~r—
a) Midcentric b) Allocertric
c) Psycho-centric d) Exploro-centric.

Headquarters of WTO is in

a) Madrid b) New York

c) Geneva d) London.

How many zones are three as per IATA geography
a) five b) two

c) three d) four.

Agati Island is situated in

a) Philippines b) Goa

c¢) Kochin d) Andaman.

The tourist who followed the off-beaten track is known

as
a) Drifter b) Mass tourist
c) Explorer d) Individual tourist.

Headquarters of W.T.T.C. is situated at

a) Geneva b) France

c) London d) none of these.
Athens is the capital of

a) Germany b) TItaly

c) Switzerland d) Greece.
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GROUP - B
( Short Answer Type Questions__)i__ ] i
Answer any three of the following. TTT3%x5 =15

Briefly explain smith model of tourist typology.

Discuss the interrelationship between tourist generators
region and tourist destination region.

Discuss the factors affecting the movements of Global and
regional tourists.

What do you mean by alternative tourism ? Discuss its
importance.

Discuss the role of information technology in the promotion
of international tourism.

GROUP - C
(Long Answer Type Questions )
Answer any three of the following. 3 x 15 =45

Critically analyse the tourism bills of rights and identify how
it helps the stakeholders of tourism industry.

Critically analyse the strengths and weaknesses of India as
an international tourist destination.

Briefly analyse the key features of Chicago Convention and
Warsaw convention.

Describe the role of Ministry of Tourism, Government of India
in promoting domestic and international tourism.

Write short notes on the following :
a) Barriers to travel
b) Major tourist generating states in India

c) Characteristics of inbound tourism.
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